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1.(30%) MA@ Mg o 1 £ F r FE KBRS R o B HE R 31Kk
B LOW% i ® 9750 kg/h e -kig i 2 Bk Bk 45D L5W% > § A4 3R G
101.325 kPa(latm) ~ i & 5 373.2K > il » 4r{r T /B4 5 1433 kPa -~ if & 5 383.2K (/4 :
2230 kI/kg) » % a4 18 5 i Ug 5 1500 WIMPK » 3R
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(@) %% fAfFiE - H A =% 100 °C ifé%ﬁﬁﬁz;‘l* el
(b) » #7 et #aT itk B B 5 414 kIkgK
(c) & #12 #i% % 101.325 kPa & /44 5 2257 ki/kg -
(d) Jksgike e & %4 R & 100°C & 5 0

2. (20%) ?Jﬁﬁ PoRes R G pa 'F)»#ié PR R RNETEIRS pas 35 IAFRERS P
ks 2 5 18020 2 F hke £ 5 2897 0 R (1)/R & H (humidity) = % > 2 (Z)Eéfr-;ge}i
H; (saturated humidity) 2 = ? (3); ﬂ}i F ~ 5 H, (percentage humidity) 5 = ? (4) AA¥RERE A F
Hr (percentage relative humidity) % i ?

3. (15%) (1) 4 i 23040 Ak 5 Vo o H A 5 Voo 3R R Z MR e (voidage) = 77 (2)
P > #3405 1umo £ & 5 2/3um > 344 B % 522 /= D, (equivalent diameter) 5 i ?
H 4] F]F ¢ (sphericity) = /| = % w2
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4. (20%) 54 T %

(R Xa~XB YA YB)

38 ¥ (A)2 7 ¥ (B) 1t 101.32 kPa £ 368.2 K T ffrf e 4p 2= £2 % 4

ER I T R
R £ (A) " ¥(B) ¥ & 101.32 kPa 1%
B

K °Cc kPa mmHg kPa mmHg XA YA
353.3 80.1 101.32 760 1.000 1.000
358.2 85 116.9 877 46.0 345 0.780 0.900
363.2 90 135.5 1016 54.0 405 0.581 0.777
368.2 95 155.7 1168 63.3 475 0.411 0.632
373.2 100 179.2 1334 74.3 557 0.258 0.456
378.2 105 204.2 1532 86.0 645 0.130 0.261
383.8 110.6 240.0 1800 101.32 760 0 0

5. (15%)#- 1000 = 7 & 30 Wt%=9 NapCO3-kiz i 4 #7 3] 293K » 24 = NapCO3-10H,0 s %% >

FUPER R fER S5 100kg -k ¥R 2 5 21.5kg & -k Na,COsz > (1)K kil § A &% P > &
F7 4 % 55 NapyCO3-10H20 & 48 (kQ)? (2)4 4riliAe? > F k&% > B ER" 3% R
% fe 2 % % 5 Na,CO3-10H,0 § % (kg)? %% & & 1 %~ (kg)? Na,CO3» + £ % 106.0 » H,0
A+ g% 18.02 -
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